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Filipe surveyed students at his school.
He found that 78 students own a cell
phone and 57 of those students own
an mp3 player. There are 13 students
that do not own a cell phone, but

2. Find the relative frequencies by
column. Record them in the table.
What is the relative frequency of the
number of students with no cell phone
to the total number of students

O

own an MP3 player. Nine students do surveyed?
no own either device. Construct a
two-way table summarizing the data.
~ MP3Player  No MP3 Player ' Total 2,;—-: B z L
CellPhone 5.0y §| 2\ 0 ’] 78 [ 0@
No Call Phone 13Q A 9 1
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3. Order the following from least to 4. What is the definition of an irrational
greatest: number? List 5 numbers that are
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5. Which 2 consecutive integers does

6. Evaluate 5(x? —y3) + (y — x)* for x=-3
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7. Evaluate each expression for x=-5 8. Simplify using exponent rules.
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10.Solvel 6fx + 2) = 4x + 9 + 2x + 11
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11.Translate into an equation.

i i resent the
12. Write an equation to rep
following situation: Ryan has already
made 24 cookies and bakes 12 more

, , He needs 72 cookies total,
;ssl'ess ;I(wcm the quotient of a number and 5 is E\(/)?nyr:gs; nours does he need to
£-b =\ keep baking cookies?
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15.Write and solve an equation: At the 16.50lve 8.0 + 5v } 6.3 + 2.3 +@
fair, Hunter bought 3 snacks and 10 - - ¢
ride tickets. Each ride ticket costs. GNtL1=GVv L3
PR $1.50 less than a snack. If he spends a -GV - 9\/
\\‘\ total of $24.00, what was the cost of ( /l * 3
each s% _ o . 2.
g% HIc\X-1'56) = 24 Ixt[lx 739 | ,
Zxlbx-\g = 29 2% =59 NO Solutien b
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17. What is the definition of a function?
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18. Draw a qualitative graph to represent
the situation: Mary is hiking at a
constant rate. She slows down for a
while because she is tired. Then she
stops to take a break. Then she
continues hiking at her fastest speed
yet.
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19. Describe how to tell if a function is
linear.
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20. Find the function value

f(=%)for f(x) =8-12x
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21. Create a table representing a linear
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722 Find the slope of the line that passes
between the two points.
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23.Find the slope of the line.
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24 Find the slope from the table.
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75. Write an equation for the line in slope-
intercept form.

ator is a lion. Lions
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27. A zebra's main pred
canrunata
speed of 53 feet
per second over
short distances.
The graph at
the right shows
the speed of a
zebra. Which
animal has a
faster speed
and by how much?
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56.Find the solution to the system of linear
equations.
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The function m=140h, where m is the miles
traveled in h hours, represents the speed
of the first Japanese high speed train. The
speed of a high speed frain operating
today in China is shown in the table.
Assume the relationship

28.

o fperset

between the two " Yrain Rate in China
quantities is linear. If you  Hours " Miles
ride each train for 5
. 1 217
hours, how far will you
jC\W“‘ travel on each? ik
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F 29. Graph the equationy + 4x =5
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30. The table shows
how much money

K HQber :

Ava has saved. ‘ﬁoni;‘s'x
Assume the lé A j
relationship ‘ ‘-
between the two 4
quantities is inear. | Ly
Write an equation \ ;i
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to represent the

situation. %, ZO X *60

31.The scatter plot shows the graduation
rate of high school students. Write an
equation for the line of best fit.
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Graduation Rate (34)
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32. Use your equation to make a
conjecture for the groduo’non rate in

the year 2020. 60~ 149¢(=22
§=(5)02%) 51
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33. List all sets of each
type of angle.
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Alternate interior: 43 Gad L (a/z‘;q and LS

34.Use the figure from question 33. Find
the value of x if ms3 = 10x —
20 degrees and m«4 = 6x + 8 degrees.

[0¥=20 + Xr§ =160

Alternate exterior: Z\ tnd  £¢ g L2 Gad L]
Corresponding: L{+LS, L2*L6, L34L7 LU4+LY [eX =12 = (?‘7’—_
Supplementary: Lipndly LWM(LB L‘-{-*L—B/ 1= 1\
z¢4¢gL§+ngaﬂi L@+LYLA*MP lex = (92
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35.What is the sum of the interior dngles 36. Find the value of x in each figure

of a triangle. below.
Do 121° 7 —
l X 40° /‘
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37. Find the sum of the interior angles of
a dodecagon (12 sides).

(12-) K0
10 (\(0)
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38. Find the measure of one exterior
angle of aregular 14-gon.
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39. Aright triangle has legs that measure
5 ft and 12 ft. What is the length of the

40. Burke drives due North 12 miles and
then due East 35 miles and then
straight back to where he started.
How far did he drive totale

S \22+25%=
<Tu o r 1225 7 €

ke - 12129521

41. Eliza usually drives straght to her

the long way and goes x miles south
and x miles west. If Anna’s house is
exactly 24 miles away, what is the
value of x2 Round to the nearest

tenth. 2471, x2,y1=74 ﬂ‘;\)ﬁ
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friend Anna's house. Today, she drives

{
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42. Aright triangle hastegs that measure

V14 miles and V26 miles. What is the
length of the hypotenuse?
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43.Find the distance between the two
points. Round to the nearest
hundredth if necessary.

(-9,-3) and (5, -2) [ (G+4)** (G4 +3)E
AT
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44.0n a map a park is located af
(12.325, 15.546) and the library is
located at (16.425, 18.575). How far is
it from the park to the library? Round
to the nearest thousandth.

(o116 -\2-329) + (1$515-1\% S4e)*

V42 2peqs = o8]+ 9.0

45.Find the volume of a cylinder with’a
diameter of 12 feet and a height of 5
feet. r=wtt

= (30 (0)9)
N=S0G. 2 £43

46.Find the volumé&,of a cone with a
radius fo 4 cm and a height of 8 cm.

V=(2.14) [¢1)1Y)
2

\= 13297 om’
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47.What is the volume of a cylinder with
a radius of 2.5 inches and a height of
3.75inches.

(= (210) (19 (215D
13.6%10°

294.375 cubic
_The volume of a cone is
* feet and the height is 5 feet. Find the

radius of the cone-. ng |26+= \q 2
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49.Find the volume of a sphere with a
radius of 14.5 inches.

=4 (214) Lusy
\ = | Zﬂw’&ﬁ‘ﬁ >

50.Find the volume of @ hemisphere with
a diameter of 15 mefers

V=R (340 (1 o?
17000 25 m>

51. | have a sphere full of sand that has a
radius of 4 in. Could | empty the sand

into a cube t@hat has a side lenth of
42 Explain. WSpmre iy

(e '-¥3f(otlm St
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52.A cube with a side lenth of 10 cm has
a cylindrical hole drilled out of the
center. The diamter of the cylinder is S
cm. Find the volume of the resulting

- sem’
(000~ T3S =21 Gt 3

Greattie soli N~ Cuber (0722 [0 Cim>
voluwme )
4 = E Mnde: (314 (54)) g

53.Triangle ABC has vertices A(1, 2), B(2,
4), and C(4, 6). Give the coordiates
after a reflection across the y-axis.
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54.Using triangle ABC from question 53
find the coordiates after a roation of
90 degrees counter clockwise about

the origin. ) (—-\j )()

(HQM ( ) (- toul)

55.Given the preimage and the image
describe the transformation.

()

AlS, -3)-9 A'(3, 5)

ymk/ ’L”10°
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56. Describe the franslation using
translation notation.

B(6,2) > B'(2, -3)

()(-4,9-9)




/ What transformations create

57.
congruent figures?
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58.How tall is the flagpole?

How tall is the flagpole? \\ Z’L
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59. Which transformations create similar
figures?
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Graph each pair of similar triangles. Then
write a proportion comparing the rise to the
run for each of the similar slope triangles
and find the numeric value.

60.AEFG with vertices  —fz N
E(1,9), F(1,5), and ___q
G(2,5); AGHI with  — N1 T[T
vertices G(2,5), ;Ej___}"“'—”’“ 7 1
H(2, 1) and 13,1) N ;:j
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61. Find the depth of the water 50 feet
from the shore? C,.O
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62.Triangles XYZ and MNL are congruent
if meXYZ = 23 degrees. Find m£MNL.

13°
L
u

63.The triangles are similar. Find the
length of the missing side.

g % W=

64.Two triangle are similar. The smaller
triangle has a height of 12 inches and
a perimeter of 25 inches. The larger
triangle has a height of 26 inches. Find

side Ie h of 16 inches. Find the area
of the lorger rectangle.

;‘1[_3 r:]
| Az24 :m

- the perimeter of the larger triangle.
. - . 8 4 4
y 20 N 1 A | 2
X= 26 i2 ‘S W 5
* po1s p=7 12 p=LS0

65. A rectangle has a side lenfh of 4 - 12

inches and an area of 24Square .

inches. A larger similar rectangle has a gl{ H.O I




